



INVOICE
Pickering Firm, Inc.

Facility Design • Civil Engineering • Surveying •
 Transportation • Natural / Water Resources
 126 Rue Magnolia, Biloxi, MS 39530
 PH 228.432.5925 FAX 228.432.5928 www.pickeringfirm.com

City of Diamondhead
 5000 Diamondhead Circle
 Diamondhead, MS 39525

April 11, 2023
 Project No: 26319.00
 Invoice No: 0093136

Client Contact: Mike Reso

Ahuli Drainage Improvements
 Project Number: 26319.00

Professional Services from January 29, 2023 to April 1, 2023

Task	001	Boundary and Topographic Survey			
Billing Limits			Current	Prior	To-Date
Total Billings			0.00	13,000.00	13,000.00
Limit					13,000.00
Total this Task					0.00

Task	002	Wetland Delineation			
Billing Limits			Current	Prior	To-Date
Total Billings			0.00	4,505.00	4,505.00
Limit					6,500.00
Remaining					1,995.00
Total this Task					0.00

Task	003	Wetland Permitting Assistance			
Billing Limits			Current	Prior	To-Date
Total Billings			0.00	1,360.00	1,360.00
Limit					8,000.00
Remaining					6,640.00
Total this Task					0.00

Task	004	Engineering Design			
Professional Personnel			Hours	Rate	Amount
SENIOR P.E. (LICENSED >5, <10 YR)					
Wagner, Cara			2.50	125.00	312.50
PROJECT ENGINEER					
Furnival, Maggie			11.00	95.00	1,045.00
CAD TECHNICIAN					
Keith, Austin			10.00	70.00	700.00
Totals			23.50		2,057.50
Total Labor					2,057.50

Project	26319.00	Ahuli Drainage Improvements	Invoice	0093136
---------	----------	-----------------------------	---------	---------

Billing Limits	Current	Prior	To-Date
Total Billings	2,057.50	11,247.50	13,305.00
Limit			23,000.00
Remaining			9,695.00
Total this Task			\$2,057.50

Task	005	Project Bidding		
------	-----	-----------------	--	--

Billing Limits	Current	Prior	To-Date
Total Billings	0.00	0.00	0.00
Limit			4,000.00
Remaining			4,000.00
Total this Task			0.00

Task	006	CE&I		
------	-----	------	--	--

Billing Limits	Current	Prior	To-Date
Total Billings	0.00	0.00	0.00
Limit			20,000.00
Remaining			20,000.00
Total this Task			0.00

Total this Invoice **\$2,057.50**

Billing Backup

Tuesday, April 11, 2023

Pickering

Invoice 0093136 Dated 4/11/2023

9:11:22 AM

Task 004 Engineering Design

Professional Personnel

			Hours	Rate	Amount	
SENIOR P.E. (LICENSED >5, <10 YR)						
02031	Wagner, Cara	2/1/2023	2.00	125.00	250.00	
02031	Wagner, Cara	2/28/2023	.50	125.00	62.50	
PROJECT ENGINEER						
02108	Furnival, Maggie	3/27/2023	4.00	95.00	380.00	
02108	Furnival, Maggie	3/28/2023	7.00	95.00	665.00	
CAD TECHNICIAN						
02553	Keith, Austin	2/27/2023	3.00	70.00	210.00	
02553	Keith, Austin	2/28/2023	4.00	70.00	280.00	
02553	Keith, Austin	3/1/2023	3.00	70.00	210.00	
	Totals		23.50		2,057.50	
	Total Labor					2,057.50
				Total this Task		\$2,057.50
				Total this Project		\$2,057.50
				Total this Report		\$2,057.50

Detailed Timesheet for the Period Ending 2/4/2023

Wednesday, April 12, 2023
2:39:04 PM

Pickering

Employee 02031 **Wagner, Cara**

Total Hr	Sun 1/29	Mon 1/30	Tue 1/31	Wed 2/1	Thu 2/2	Fri 2/3	Sat 2/4
2.00				2.00			

26319.00 Ahuli Drainage Improvements
004 Engineering Design

Client: City of Diamondhead

89206 **Reg** 2.00

2/1 corr

Detailed Timesheet for the Period Ending 3/4/2023

Wednesday, April 12, 2023
2:41:15 PM

Pickering

Employee 02031 **Wagner, Cara**

26319.00
004

Ahuli Drainage Improvements
Engineering Design

89206

Reg

2/28 check in with Austin

Total Hr	Sun 2/26	Mon 2/27	Tue 2/28	Wed 3/1	Thu 3/2	Fri 3/3	Sat 3/4
-----------------	-------------	-------------	-------------	------------	------------	------------	------------

Client: City of Diamondhead

Reg			.50				
------------	--	--	-----	--	--	--	--

Detailed Timesheet for the Period Ending 4/1/2023

Wednesday, April 12, 2023
2:42:43 PM

Pickering

Employee 02108 Furnival, Maggie Smith

26319.00
004

Ahuli Drainage Improvements
Engineering Design

89018

Reg

Total Hr	Sun 3/26	Mon 3/27	Tue 3/28	Wed 3/29	Thu 3/30	Fri 3/31	Sat 4/1

Client: City of Diamondhead

11.00	4.00	7.00					
-------	------	------	--	--	--	--	--

3/27 updating plan sheets, reviewing design
3/28 updating plan sheets, reviewing design

Detailed Timesheet for the Period Ending 3/4/2023

Pickering

Employee **02553** **Keith, Austin A**

26319.00 004 Ahuli Drainage Improvements
Engineering Design

89116 **Reg**

Total Hr	Sun 2/26	Mon 2/27	Tue 2/28	Wed 3/1	Thu 3/2	Fri 3/3	Sat 3/4
10.00		3.00	4.00	3.00			

Client: City of Diamondhead

- 2/27 Adding in profile view
- 2/28 Adding pipes in profile view and updating pipe inverts.
- 3/1 Updating all pipe inverts.